YA 0201/0521

Second Semester of Three Year/ Fifth Semester of Five Year B.A. LL.B./
B.B.A. LL.B. Examination, December 2013
CONTRACT -1l (Course - 1)

Duration : 3 Hours Max. Marks : 100

Instructions: 1. Answer all5 Questions.
2. Answers should be writteneither in English or Kannada
completely.
3. Figures to the right indicate marks.

UNIT —1
Q. No. 1. (a) Define ‘Indemnity’. Discuss the rights of Indemnity holder.  Marks : 15
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What is contract of guarantee ? How it differ from continuing

guarantee ?
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(b) Write a short note on : Marks : 5
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Right of surety.
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Co-surety.
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UNIT —1II

Q. No. 2. (a) Explain the Rights of finder of goods and liability towards
the true owner. Marks : 15
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Discuss regarding rights and duties of Pawner and Pawnee.
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(b) ‘A’ leaves his cow to take care for the month. B accepts, but
after fifteen days sells the cow to ‘C’. Decide. Marks : 5
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‘A’ while walking on the road found a Jewel and took that
Jewel to a goldsmith ‘B’ to know its genuinity. Goldsmith ‘B’
after testing, refuses to return the jewel. Decide.
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UNIT =11

Q. No. 3.(a) How to create agency and discuss regarding the kinds of
Agents. Marks : 15
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Discuss the relationship of principal and third parties.
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(b) Write a short note on :

Q. No. 4. (a)

(b)
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Termination of Agency.
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Owner ‘A’ Lands over the horse to his Agent ‘B’ and instructed
not sell under any circumstances. But his agent ‘B’ sells to
‘C’ for ¥ 50,000/- and misappropriated the money. Decide.
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UNIT - IV

Discuss the nature and mode of determining the existence of
Partnership.
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Explain admission and retirement of partners under
partnership firm.
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A, B, and C are partners of a partnership firm. ‘C’ who is an
active partner retires without giving public notice. ‘X’ supplies
the goods to the firm after ‘C’s retirement. Advise ‘X’ as to the
recovery of amount of the goods supplied.
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Marks : 5

Marks : 15

Marks : 5
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‘A’ and ‘B’ agree to work together as Goldsmiths. According
to the agreement. ‘A’ shall receive all profits and shall pay
T 5,000 per month to ‘B’ as wages. Discuss whether ‘A’ and
‘B’ are partners.
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UNIT -V

Q. No. 5.(a) Discuss regarding remedies available for breach of contract.
Under Sale of Goods Act. Marks : 15
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Distinguish between conditions and warranties.
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(b) Write a short note on: Marks : 5
VPO TS 2D :
Contract of Sale.
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Unpaid seller.
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